NAME: Date: Grade:

(From Grade Calculation on last page)

Lesson 14
= PracticeDrill 1 &

SoTrandate John 1:12-13 (31 answers):

< Parse (19 answers):
1.12

6oot (13 answers): Rel Pron - Nom (Subj) - M - P - 6oo¢, -n, -ov - introducing a relative substantival
appositional dependent clause -

d¢: Postpositive coordinate conjunction introducing independent clause place in contrast to the preced-
ing independent clause - but

€\oPov (8 answers): 2 Aor (Const) - Act - Ind - 3 - P - AauBdve -

ov1ov (10 answers): Pers Pron - Acc (Dir Obj) - M - S - avtdg, -1, -0 -
€dwxev (8 answers): 1 Aor (Const) - Act-Ind - 3 - S - didmut-

ovtoig (10 answers): Pers Pron - Dat (Indir Obj) - M - P - a0tdc, -1, -0 -
€€ovotav (7 answers): 1 - Acc (Dir Obj) - F - S - €&ovoia, 1 -

téxvo, (7 answers): 2 - Acc (Pred Obj) - N - P - téxvov, 10 -

0e0? (7 answers): 2 - Gen (Poss) - M - S - 6gd6g, 0 -

yevéaBo (8 answers): 2 Aor (Const) - Dep - Infin (S: Mod) - yivouoru -

toi¢ motevovoly (12 answers): Pres (Desc) - Act - Ptc (Adj: Subst) - Dat (Appos) - M - P - miotevo - to
those believing

€1¢ 10 Ovouo (8 answers): 3 - Acc (Measure) - N - S - dvoua, -atog, 10 -



ovtod (10 answers): Pers Pron - Gen (Poss) - M - S - a01d¢, -1, -0 -
1.13

ol (13 answers): Rel Pron - Nom (Subj) - M - P - d¢, 11, 6 - introducing relative substantival appositional
dependent clause -

ovk: negative adverb introducing a series of negative statements playing off the implicit verb £€ysvvnénocav
that shows up at the end of the sentence in the positive expression. Note the series of negatives:
0VK...000€E...008¢...008¢...aAL" (not...neither...neither.neither...but).

¢€ alpdtov (8 answers): 3 - Abl (Source) - N - P - oiua, -atog, 16 -

ovde: coordinate negative conjunction - neither

€x Belnuortog (8 answers): 3 - Abl (Source) - N - S - 6¢Anuo, -atog, 10 -

copkog (8 answers): 3 - Gen (Desc) - F - S - cdpé, copxdc, N -

ovde: coordinate negative conjunction - neither

€x Belnuortog (8 answers): 3 - Abl (Source) - N - S - 6¢Anuo, -atog, 10 -

avdpog (8 answers): 3 - Gen (Desc) - M - S - avnp, avdpadg, 0 -

aAA’ @ coordinate conjunction introducing independent clause place in strong contrast to the preceding
statements - but

€x Beo? (8 answers): 2 - Abl (Source) - M - S - 6gdg, 0 -

€yevvnOnoav (9 answers): 1 Aor (Const) - Pass (NAE) - Ind - 3 - P - yevdo -

********************GRADE CALCULATI ON********************

Nurmber of Errors : Total Pts. 100. 00
M ssed accents and breat hi ng mar ks
= 1/4 error per word M nus Pts.
Ti mes 2.00 M ssed
Total Pts. M ssed . G ade
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